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T T T T T
20 40 60 80 100

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

120

140

o

position (Mb)
horizontal line = 0.5000 0.3333 0.6667

120

140



LRR

BAF

00 02 04 06 08 10

Scan 280 — Chromosome 12 — GRN_Q125X_A01

0 20 40

green=AA,

60 80 100 120

position (Mb)
horizontal line = mean LRR

orange=AB, purple=BB, black=missing

bt gt el B e g S
: mw TN ST

0300 ) o) NN N —HeH N
o o A e o
oo oooooo0od o

position (Mb)
horizontal line = 0.5000 0.3333 0.6667

SO AN MMM AN NN O 0
OO IFLD i AN 0 V00 IS S
e o o A O I A CIRRRRN N AL
COCW OO0C O O O OO0 OO0 dibooo O OO




LRR

BAF

00 02 04 06 08 10
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Scan 280 — Chromosome 18 — GRN_Q125X_A01
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Scan 280 — Chromosome 19 — GRN_Q125X_A01
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Scan 280 — Chromosome 20 — GRN_Q125X_A01
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Scan 280 — Chromosome 21 — GRN_Q125X_A01
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Scan 280 — Chromosome 22 — GRN_Q125X_A01
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Scan 280 — Chromosome X — GRN_Q125X_A01

50 100 150

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

position (Mb)
horizontal line = 0.5000 0.3333 0.6667




LRR

BAF

00 02 04 06 08 10

Scan 280 — Chromosome Y — GRN_Q125X_A01

0 50 100 150
position (Mb)
horizontal line = mean LRR
green=AA, orange=AB, purple=BB, black=missing

B . as
¥ oy
A . -l i
I I I I

0 50 100 150

position (Mb)
horizontal line = 0.5000 0.3333 0.6667




